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CHAPTER 5: DISCRETE PROBABILITY DISTRIBUTION: 

: انخىصٌؼبث الاحخمبنٍت انمىفصهت: انفصم انخبمس

Discrete probability distribution consists of the values a random variable 

can assume and the corresponding probabilities of the values.  

Random variable: is a variable whose values are determined by chance. 

ٌُ انمتغٍس انري تتذدد قٍمتً بانصدفت : انمتغٍس انؼشُائً

EXAMPLE: 

Construct a probability distribution for rolling a single die: 

ُّن انتُشٌغ الادتمانً لإنقاء شٌسة وسد مفسدة : ك

(  6، 5، 4، 3، 2، 1)فساؽ انؼٍىت فً ٌري انذانت ٌُ 

  1/6َادتمال كم ػدد مه الأػداد انسابقت ٌساَي 

 6- 5- 4- 3- 2 – 1 تأخر انقٍم Xبٍىما 

Since the sample space is S = (1, 2, 3, 4, 5, 6) and each outcome has a 

probability 1/6, then the distribution will be: 

Outcome x 1 2 3 4 5 6 

Probability P(X) 1/6 1/6 1/6 1/6 1/6 1/6 

 

EXAMPLE: Construct a probability distribution for Tossing 2 coins. 

Since x = 0, 1, 2,  

ُّن انتُشٌغ الادتمانً نسمً قطؼتً وقُد: 2مخال  : ك

( HH, HT, TH, TT)فساؽ انؼٍىت ٌُ 

X تسمص نهصُزة H فىجد أن X لأن ) 2، 1، 0 ٌساَيH ًف TT ًتساَي صفس ، َف HT, 

TH نكم َاددة ، بٍىما 1 تساَي HH 2 تساَي )

Outcome x 0 1 2 Sum 

Probability P(X) 1/4 2/4 1/4 1 
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 )(.exp XPXectationmean 

  22 )(.var XPXiance

  22 )(.. XPXdeviationstrandard

Mean, Variance, Standard deviation, and Expectation: 

: ، انخببٌه والاوحشاف انمؼٍبسي وانخىقغ (انقٍمت انمخىقؼت)انمخىسظ انحسببً 

 

 

 

 

 

From the above example, find the mean (expected value), variance, and 

standard deviation: 

َانتباٌه َالاوذساف انمؼٍازي نهمخال  (ٌسمى أٌضا انقٍمت انمتُقؼت)أَجد انمتُسط انذسابً 

: (زمً قطؼتً وقُد)انسابق 

[ P(X) َانؼمُد Xداصم ضسب انؼمُد ]انمتُسط انذسابً ػبازة ػه مجمُع  

(. انقٍمت انمتُقؼت)ٌُ انمتُسط انذسابً  (SUM)لادظ نهصف انخانج فً انجدَل أدواي انىاتج 

 

Outcome x 0 1 2 Sum 

Probability P(X) 1/4 2/4 1/4 1 

 X.P(X) 0 2/4 2/4 4/4=1 

X
2
.P(X) 0 2/4 4/4 6/4 
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BINOMINAL DISTRIBUTION:  حىصٌغ ري انحذٌه:  

A binominal distribution is a probability experiment that satisfied the 

following four requirements: 

: حىصٌغ ري انحذٌه هى حجشبت احخمبنٍت ححقق انششوط انخبنٍت

. ٌىاك ػدد مذدَد مه انمذاَلاث .1

. q َفشم Pكم مذاَنت نٍا واتجٍه فقط وجاح  .2

. انىُاتج مستقهت .3

 .ادتمال انىجاح ٌظم ٌُ وفسً نكم مذاَنت .4

 [انششوط انسببقت مهمت جذا جذا]

1. there must be a fixed number of trails. 

2. Each trail can have only two outcomes. 

3. The outcomes of each trail must be independent of each other. 

4. The probability of a success must remain the same for each trail. 

 

Binominal probability formula:   قبوىن حىصٌغ ري انحذٌه  

  nوػذد محبولاث  [Pوسبت مئىٌت ]ٌكىن مؼطى فً انسؤال : ملاحظت مهمت جذا

[: p + q = 1] بطشحهب مه واحذ p حسخىخج مه qو

 

 

 

EXAMPLE (5-15): 

A coin is tossed 3 times. Find the probability of getting  

: ػىد زمً قطؼت وقُد حلاث مساث أَجد ما ٌهً

1. Exactly two heads. انذصُل ػهى صُزتٍه 

: فساؽ انؼٍىت لإنقاء حلاث قطغ وقُد ٌُ ما ٌهً

  q = 1/2 ،n = 3 ، َادتمال انذصُل ػهى كتابت P =1/2ادتمال انذصُل ػهى صُزة 

X تمخم الادتمال انمطهُب ( فً ٌري انذانتx=2 )

xnx qp
xxn

n
xP 


 ..

!)!(

!
)(
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S= (HHH, HHT, HTH, THH, TTH, THT, HTT, TTT) 

n= 3,  P = 1/2, q= 1-p= 1/2 

 

 

2. Exactly three heads. أَجد ادتمال انذصُل ػهى حلاث صُز X=3 

 

 

3. at least one head:أَجد ادتمال انذصُل ػهى صُزة َاددة ػهى الأقم  

 

 

 

 

EXAMPLE (5-16): 

إرا حم . فً مسح دساسً وجذ أن واحذ مه خمست أمشٌكٍٍه قذ صاس انذكخىس فً شهش مؼٍه

 أشخبص صاسوا انذكخىس فً انشهش الأخٍش؟ 3 أشخبص ، أوجذ احخمبل 10اخخٍبس 

P=1/5, q = 1 – p = 1 – (1/5) = 4/5,    n= 10   , x = 3 

:  ووطبق فً انقبوىن حطبٍق مببشش 

 Survey found that one out of five Americans say he or she has visited a 

doctor in any given month. If 10 people are selected at random. Find the 

probability that exactly 3 will have visited a doctor last month. 

Solution: 

 

EXAMPLE (5-17): 

A survey from teenagers Research Unlimited found that 30% of teenage 

consumers receive their spending money from part- time jobs. If 5 

teenagers are selected at random. Find the probability that at least 3 of 

them will have part-time jobs. 

مه انمساٌقٍه ٌىفقُن أمُانٍم مه الأػمال الإضافٍت ، إذا تم % 30فً مسخ َجد أن مؼٍد ما أن 

.  ػهى الأقم سُف ٌىفقُن أمُانٍم مه ػمم إضاف3ًأَجد ادتمال .  مساٌقٍه5اختٍاز 
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Solution:  n = 5,  p= 0.3,  q= 0.7 

P(At least 3 of teenagers have part-time jobs) = P(3) + P(4) + P(5) 

 

 

 

 

 

P (at least 3 has part-time jobs) = 0.132 + 0.028 + 0.002 = 0.162 

. َوجمغ الادتمالاث كما ٌُ مبٍه أػلاي (حلاحت أَ أزبؼت أَ خمست)حلاث ػهى الأقم تؼىً 

 

Mean, Variance, and Standard Deviation for Binominal Dist.: 

: انمخىسظ وانخببٌه والاوحشاف انمؼٍبسي نخىصٌغ ري انحذٌه

Mean = u     =   n . p   ًانمتُسط انذساب   

Variance =           =   n. p. q   انتباٌه 

Standard deviation =          =   n. p. q   الاوذساف انمؼٍازي 

.  الاوذساف انمؼٍازي ٌُ انجرز انتسبٍؼً نهتباٌه:مهحىظت

From Example (5-17): find the mean, variance and standard deviation 

for the teenagers having part-time jobs. 

. أػلاي (17-5) أَجد انمتُسط انذسابً َانتباٌه َالاوذساف انمؼٍازي نهمخال :مثــــــــبل

Mean  = n. p = 5 * 0.3 = 1.5  ًانمتُسط انذساب 

Variance = n. p. q = 5 * 0.3 * 0.7 = 0.63   انتباٌه 

Standard deviation = n . p. q =    0.63   =  0.79  الاوذساف انمؼٍازي 

* * _____________________* * ____________________ * * 

**** Find the mean for the teenagers having not part-time jobs: 

أَجد انمتُسط انذسابً نهمساٌقٍه انرٌه لا ٌؼمهُن ػمم إضافً؟ :سؤال مهم جذا

: كما ٌهً (p َ qأَ وؼكس ) p بدلا مه q فً nفً ٌري انذانت وضسب 

Here:   P = 0.70 , q = 0.30 

Then mean = n. p = 5 * 0.7 = 0.35   ًهزا هى مخىسظ انمشاهقٍه انزٌه لا ٌؼمهىن ػمم إضبف
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: مسبئم مهمت ػه انببة انخبمس

 

DISCRETE PROBABILITY DISTRIBTUTION: 
 

If     sum [X
2
 P(X)] = 6 and E(X) = 2, find the variance for the probability 

distribution of x ? 

 

Variance = sum[x
2
.p(x)] – u

2
 = 6 -2

2 
= 2 

 

: مسبئم مهمت جذاً ػه حىصٌغ ري انحذٌه
 

BINOMIAL DISTRIBUTION:    حىصٌغ ري انحذٌه  
 

EXAMPLE: 
 

A die is rolled 5 times. The probability of getting a number 4 one time only is: 

 

:  مشة واحذة فقظ4أنقٍج صهشة وشد مشة واحذة أوجذ احخمبل انحصىل ػهى انؼذد 
 

P = 1/4 , q = 1 – p = 1 – 1/4 = 3/4 

n = 5 

 

P (X) = (n c x) p 
x
 q 

n- x
 

 

P (X=1) = 5 C 1 (1/4)
1
 * (3/4) 

4
 

 

EXAMPLE: 
 A coin is tossed 5 times. Find the probability of getting odd numbers. 

 

. أنقٍج صهشة وشد خمس مشاث ، أوجذ احخمبل انحصىل ػهى ػذد فشدي
We have 3 odd numbers and 3 even numbers 

Then x = 3  

(if question find prob. Of getting even number , x = 3 also) 

 

. ممكه ٌكىن انسؤال أوجذ احخمبل انحصىل ػهى ػذد صوجً وٌكىن انحم هى وفسه
 

n=5 , p = 1/2, q = 1/2 

 

P (X = 3) = 5 C 3 (1/2)
3
 * (1/2)

2 
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 #### هزا انؼمم مجبوً ولا ٌببع#### 

ووخمىى مه الله أن ٌىفغ به أبىبءوب  فً جمٍغ أوحبء انكشة الأسضٍت ،،،، 

ولا حىسىوب مه صبنح دػبءكم  ،،،،،، 

gasim_hhh@hotmail.com  
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